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d'v ,dy .l
l. U.irrs I.aplrce tlrnslonn5. solrc,a -4-L-llt=I'. uirett tlrat.r10;-Iarrd

r'(0)--2. [l5l

2.a) I--irrd a real root of the equation xloe,,n r=1.2 by Bisection methocl.

b) Prove that l'V - A :Y E crnrl VA: A - V:,f 2 [B-7]

3. Using Lagrange's irrterpolation lbrrrr-rla. find y(6) fi"om the follou'irTg table. Ll5]

il

4. -l'aiiing n .= 6, evaluate the approrinratc value o1' Jfogrr/r bl usirrg a)'frapezoidal

' 
rule b) Sirnpson's ll3'd and c) Sirrpson's 3/8'h rules. [5+5r 5]

ch, 1,2 - 2x
5. LJsing RLrnge - Kr:tta trethod o1'fourth order. solve-: tj,+r y(0)=1.

Corlpute i(0 l) and 1,(0,2). [,151

\.' r .r'' ) r' iran-' If], 
a,a11tic.

b) Shou' that Lt.-e-x (r sin.y'-.trcos.r') is harnlorric |8+7l

7.al []rirrg CtrLre hr's inregrel lurrrrrrla. eralrrare I ;=- J: riltcre C is rlre circle ,

r 1:' J.;1:-lt

lzl :3
--+lb) Deterrrine tlre poles ancl residues of the l'unction I (:)= .* f7+81: (: l)

x J 5 1 9 lt
v 6 1+ -58 108 14

in,.tr

j:..,:



ti.a)

b)

Find rI
I
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cos 3lcos ?/

[ .,.r ]
Firtd l'l , ' ',- !.

Ir'- 10,s, ]9
[8+7]
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